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1,निम्ि में से यह संख्या 999(98/99) × 99 निस िे बराबर ह ? 

Which of the following is the number 999(98/99) × 99 equal to?

(a) 100000

(b) 99899

(c)100010

(d) 99999AP
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2,यनि निन्ि िा हर, उसिे अंश से 3 अनिि ह । यनि अंश में 7 िी वनृि िर िी जाए और हर में 2 िी िमी 

िर िी जाए तो पररणाम में 2 प्राप्त हो जाता ह । तिािुसार उस निन्ि िे अंश तथा हर िोिों िा योग 

नितिा ह ? If the denominator of a fraction is 3 more than its numerator. If the numerator is increased 

by 7 and the denominator is decreased by 2, then the result is 2. Accordingly, what is the sum of both 

the numerator and the denominator of that fraction?

(a) 10

(b) 11

(c) 12

(d) 13
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7,एि िायाालय में 108 पंखे और 132 िूलर ह , उिमें यनि 1/6 पंखे और 1/4 िूलर 

टूट जाए तो उस िायाालय में नितिे पंखे और िूलर सुरनित ह?ं There are 108 

fans and 132 coolers in an office, if 1/6 of the fans and 1/4 of the cooler are 

broken, then how many fans and coolers are safe in that office?

(a) 240

(b) 189

(c) 99

(d) 90
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8,निम्िनलनखत निन्िों िो अवरोही क्रम में व्यवनथथत िीनजए Arrange the following 

fractions in descending order -3/5 , 7/9 , 11/13

(a)11/13 , 7/9 , 3/5 

(b) 11/13 , 3/5 , 7/9 

(c) 7/9 ,11/13 , 3/5

(d) 3/5 , 7/9 , 11/13
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9, 4/5 , 7/8 , 6/7 , 5/6 िो आरोही क्रम में व्यवनथथत िीनजए। Arrange the following in ascending order.

(a)4/5 , 5/6 , 6/7 , 7/8

(b) 5/6 ,4/5 , 6/7 , 7/8 

(c)6/7 , 7/8 , 4/5 , 5/6 

(d) उपरोक्त में से िोई िहीं
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Q.10: The sum of 10 numbers is 550. Find their average number.

10 संख्याओ ंिा योग 550 ह । उििी औसत संख्या ज्ञात िीनजए

A.45

B.55

C.43

D.41
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Q11: What is the average of natural numbers from 1 to 67?

1 से 67 ति प्रािृत संख्याओ ंिा औसत क्या ह ?

A.34

B.67

C.45

D.32
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Q12: The average of 7 consecutive numbers is 20. What is the largest of these numbers?

7 क्रमागत संख्याओ ंका औसत 20 ह।ै इनमें स ेसबस ेबड़ी संख्या कौन स़ी ह?ै

A.17

B.18

C.23

D.27
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Q13: The average of 10 numbers is 23. If each number is increased by 4, 
what will the new average be? : 10 संख्याओ ंका औसत 23 ह।ै यदि प्रत्यके 
संख्या में 4 की वदृि कर ि़ी जाए, तो नया औसत क्या होगा?

A.27

B.23

C.40

D.10
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Q14) यनि A िा 30% = B िा 0.25 = C िा 1/5 हं तो A : B : C िा माि बताइए
If 30% of A = 0.25 of B = 1/5 of C then find the value of A : B : C 
A. 10 : 17 : 23
B. 10 : 12 : 15
C. 12 : 12 : 17
D. 18 : 21 : 27
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Q15)यनि x : y = 3 : 2 ह,ं तो अिुपात (2x² + 3y²) : (3x² – 2y²) = ?
A. 30 : 19
B. 40 : 17
C. 50 : 23
D. 57 : 29
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Q16)20 व्यनक्त निसी िाया िो 10 निि में परूा िर सिते हं तो बताओ 25 व्यनक्त उसे नितिे निि में
परूा िर सिते ह।ंIf 20 men can complete a work in 10 days, then tell in how many days 25 men 
can complete it.
(A) 8
(B) 6 
(C) 9
(D) 10
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Q17)40 आिमी 5 घण्टे िाया िरिे निसी िाया िो 10 निि में समाप्त िर सिते हं तो
बताओ 50 आिमी 4 घण्टे िाया िरिे उसे नितिे निि में परूा िर सिते ह।ं40 men can 
finish a work in 10 days by working 5 hours then tell in how many days 50 men can 
complete it by working 4 hours.
(A) 10
(B) 20
(C) 30
(D) 40
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Q18) 200 अध्यापि 8 घण्टे िाया िरिे 15 निि में 1000 िॉनपयााँ जॉच सिते हं तो बताओ 500 
अध्यापि 6 घण्टे िाया िरिे नितिे निि में 2,000 िानपयााँ जॉच सिते ह।ं If 200 teachers can check 
1000 copies in 15 days by working 8 hours, then tell in how many days 500 teachers can check 
2,000 copies by working 6 hours. 
(A)  16
(B) 15
(C) 18
(D) 19
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Q19) उस संख्या िा 40 प्रनतशत क्या होगा। नजसिा 200 प्रनतशत 90 ह?ं ) 
What will be 40 percent of that number. Whose 200 percent is 90? 
A. 16
B. 18
C. 36
D. 45
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Q20) यनि x िा 90% = y िा 30% तथा y = x िा p% हो तो p िा माि क्या होगा? ) If 
90% of x = 30% of y and y = p% of x, then what is the value of p? 
A. 300
B. 600
C. 800
D. 900
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Q21) एि संख्या िा 50% उसी संख्या िे 35% से 39 अनिि ह।ं उस संख्या िा
115 प्रनतशत क्या ह?ं 50% of a number is 39 more than 35% of the same number. 
What is 115 percent of that number? 
A. 179
B. 299
C. 85
D. 215
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Q22) निस वथतु पर लगे िर में 10% िी िमी िी गई, और उसिी खपत 10% बढ़ जाती
ह । उस पर प्राप्त राजथव में प्रनतशत पररवताि ज्ञात िीनजए। The tax on a commodity is 
decreased by 10%, and its consumption increases by 10%. Find the percentage change 
in revenue received on it 
(1) 10% वनृि
(2) 2% िमी
(3) 1% िमी
(4) 11% वनृि
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Q23)निसी वथतु िा मलू्य 75 रुपए था। पहले मलू्य में 20% िी वनृि िी गई तथा
बाि में इसमें 20% िमिर िी गई। वथतु िा वतामाि मलू्य ह - The cost of an 
article was Rs.75. The price was first increased by 20% and later it was 
decreased by 20%. The present value of the article is-
(1) 72 रुपए
(2) 60 रुपए
(3) 75 रुपए
(4) 90 रुपए
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Q24) चीिी िे मलू्य में 20% िमी होिे पर खरीिार 160 रुपए में 8 निग्रा अनिि चीिी
खरीि सिता ह । िमी होिे से पहले चीिी िा प्रनत निग्रा मलू्य क्या था ? A reduction of 
20% in the price of sugar enables a buyer to buy 8 kg more sugar for Rs.160. What was 
the per kg price of sugar before the shortage? 
(1) 5 रुपए
(2) 6 रुपए
(3) 10 रुपए
(4) 4 रुपए
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25.निसी वथतु िा िो 800 रु. में खरीििर 900 रु. में बेच िी तो लाि

प्रनतशत बताओ? 800 for an item. 900 by buying in Rs. If sold in then tell 

the profit percentage?

(1)12.5%

(2)13.5%

(3)10%

(4)15%
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